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ŝrtot iftr uwra

8828- «To HWt !fRTW  <tNNt : 
^Ti ^ftfvnr*T vft* THTIR ^  SRT!% 
^  f̂ TT ^ T  %  :

(W ) 1 9 7 4 -7 5 ^  ‘W -
m r  fterTm ¥  «rk  W

5R f^RRT f%?RT yWIcIH f̂ TT ;
(«T) W  9̂T ^  *TR *lff

i&m  JHFrrar ift f w  ^t t^tt | ; s fk  
(*r) ^  v f t  *Ft ^  % f ^

W  V**ll» ^T 7^ t  ?

^jH w w  iffr  x w r  *tiih*? ^  ^w- 
«nft («ft F̂fto «^o *mft) : (^r)
’Bftr ( ^ )  v *  «f«rfs5r m  ^  f t  * j f ^  
% *m  i974% ?fk F r ^f^fhrq?*fhfhr, 
firfftfinr q  fftr f W v r  ^  % zvn& r
m  5*fhC T«fk^  19 7 3 -7 4  % ? 'kH ’ 

*prf VT STTTRr f w  5WTT ^ :—

^  19 73 -74  %
q̂̂ ft tottt p̂t ^ r  

2 5 5 .2 9  0 .5 2  0 .7  1
( ^ M n k  ift «rteinw*r) 

800. 12 ^
4 6 .4 4  1%*? *£*?

2 5 4 .9 9  306 1 1 2 .6 5




